VARIABLES: INTRODUCTION (E-2)
CHALLENGE

Name:

Time: Score:

201)

(((8z + 5x — x) — 6x + (10x — 4x)) + 3x + 3x) =

202)

(4z + bx) + ((Tx — 3x) + (27r + 9 — 3x) — 3x) =

203)

((0x 4+ 10x) — (0x +4x)) + (Tx + =z — (102 — 10x)) =

204)

(122 -2 —62)) X ((7Tx 4+ 10z) x ((0x — 0x = (8x)))) =

205)

(0z +9x + (Tz — 3z)) — (((0 = 10) + 7x) + 4x) =

206)

(322 +4 —Tx + (92 — 3x) + (2x) X 3z + 2x)) =

207)

((8x = Tx —0))) + (Tx — Tx) + (Tz) X 30x +~3 =

208)

v+ 0z + (92 — ) + (((8x + 8x) — 7)) — b6x) =
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